CyMmMma 0eckoHeuHOU

reOMETPUUYECKOU IIPOrpPeCCUN
B 4

YcTHasa paboTa

PaboTa yuutens
MaTeMaTUKn
Jlnuesa N°86
JdaHnnoson C. [.
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Hantin MHO>KEeCTBO 3HAUECHUU
pyHKITUN:

a) y=4sinx-3 6) y=35—-2C0SX
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Hananre HanOoOABIIIEE 3HAUECHUE
pyHKIIUN
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Ha xakoMm pucyHke n300pa>kgH
rpadpuk PyHKIMU Y = COS| X + %)
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Ynpocrure BhIpaiKeHue

a)cos?15+cos?75 6) coS(x+y)+2smxsiny

) sin 4x ) sin® x —cos” x
COS2X cos’ x —sin® x
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Pemmure ypaBHeHUE

a) sin 2006x cos 2005x —cos 2006x sin 2005x =0
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COS2 X
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B) 2sinxcosx—cosx=sin>x

r) sin(r — x) — cos(% +x)=-1
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